Al = 0 &F S M A
=213 HESHZSLHATSHALHZS ~
ST AP A
D HRES(=TAEA)
D UHEHAHKIE(HEoH+SL M ZSEANLNE D) cHe
N3 [(3H) - N2AIY - BHES Of &F 2K plpsgel: Hlns2t
b A 45,737,047 45,731,006 6,041
FE (ST AIY A) 45,737,047 45,731,006 6,041
HeHXE(HESI+SLMABSHALEEI) 45,737,047 45,731,006 6,041
SE5LESLHUT 2222 45,737,047 45,731,006 6,041
101 Q1A 10,684 12,000 A1,316
04 JIZtH22NsSES 10,684 12,000 A1,316
Odt==Held ¢ SHEZE ME=X
ZE 36,3402 * 721 x 21 * 23] 10,684 12,000 A1,316
201 Let29Y| 1,554,796 1,484,208 70,588
01 AFR22/HI 201,828 148,440 53,388
olger424|] 201,828 148,440 53,388
OE4EeX 24 242
A 1,728,0002 * 13 1,728 1,000 728
OA2LAE HIEH +42
2 500,0008 * 10& * 13 5,000 20,000 A 15,000
OFMIIotMZR| 8 242 10,200 14,400 A4,200
02FTH HZH(23)
2 300,000 * 12& 3,600 4,800 A 1,200
024E) EIH(35)
2 350,000 * 12& 4,200 7,200 A3,000
OXMelE AWM Y HMAG 42
23 3,100,0008 * 14l 3,100 6,000 A2,900
OSHEIE L0EE 42
33X 330,0008 * 12¢ 3,960 7,200 A3,240
OUEs+XeANLEEe BUFEALLE
15,000,000 * 12! 15,000 0 15,000
OFZE NS BT AAM =42
4,000,000 * 124! 4,000 0 4,000
O™ J|Z0/8 +42 9,000,000 * 14! 9,000 0 9,000
OUEdt4eRel4s THOIRALY HAAAL =4
2 50,000,000 * 14 50,000 0 50,000
02 324l 1,352,968 1,335,768 17,200
O[2Z223 ¥ HMAll 600,900 583,800 17,100
OMdtEE AIZZ(127H4)
23 2,500,0008 = 122 30,000 19,200 10,800
OTW/TC H23|H A2
2 625,0008 * 128 7,500 1,200 6,300
Ol 24l] 581,118 281,118 300,000
OZ2X AAAE EXAZH HHMIK(DA
o2 Ea)  AA 9509 x 2,000 4 * 300 570,000 270,000 300,000
O[AEEHIRXIHI] 170,950 470,850 299,900
OBIZSZ KXl 0 40,900 240,900
oSt elE EI(401-012) 3 o 0 20,300 20,300




A =ZAE
M XHQE‘%(TEM%i)
Sel WRHAKE(HSot+-SLHeAESEMEREF) (ctel: &
SH-EFHHA(FA) - NIRAE - BES O AF K J| & oK Hos
02+ LYEMFEIZ FHI(401-012)
2 0 0 10,000 210,000
oXlotEsS+ Xti+=8Z WX (401-012)
28 03 0 5,000 A5,000
o ZAS EAHEIZ WH(401-012)
2& 03 0 5,600 A5,600
02 BEE A= /A &2l 18,000 44,000 A26,000
0 R YNOIE &H|(401-012) 28 03 0 7,000 AT7,000
o & ALXl &HI(401-012) 32 03 0 12,000 A 12,000
oREAHT HH|(401-012) Z2F 0¥ 0 2,000 A2,000
ozl& AEX &HI(401-012) 2& 03 0 5,000 A5,000
oS EJ| &HI(401-012) 28 03 0 5,000 A5,000
o ASZX &HI(401-012) 28 03 0 2,000 A2,000
ox& TMS |Xl&eltl
a3 1,500,000& » 12& 18,000 6,000 12,000
025 L Fits FHEZHE S| (401-01
2) 28 0¥ 0 5,000 25,000
O=d XAl Ald |X 22/t 38,000 271,000 A 233,000
osEX &HI(401-012) 28 03 0 8,000 A8,000
0 €D ¥ 2UEH Rl (401-012
) 2& 03 0 7,000 AT7,000
oE=E % 01 &HI(401-012)
328 0¥ 0 8,000 28,000
oa2AA MHM 228l (overhaul)(401-01
2) 28 03 0 180,000 A 180,000
oAz RUSIEI| WH(401-012)
28 03 0 30,000 A 30,000
206 M=l 218,700 228,700 210,000
01 M=H| 218,700 228,700 A 10,000
OAZAE SX22E AZH|
AE 5,000& * 20kg * 150! 15,000 25,000 A 10,000
207 ALy 284,763 145,763 139,000
01 A= HH| 277,263 138,263 139,000
OLZAE DAl 139,000,000& * 14 139,000 0 139,000
401 AlEHIZ 2 2,178,900 730,000 1,448,900
01 Al&HI 2,178,900 730,000 1,448,900
ONTHelAIE XA Jle & aAI4AI
200,000,000& * 14 200,000 0 200,000
OHAA et MII&Hl wil
300,000,000& * 14 300,000 0 300,000
OFALR &4 WAl 150,000,000& * 14 150,000 0 150,000
O HM2SHEZE MI|4Hl WS A
100,000,000& * 14 100,000 0 100,000
OL2tAE HADIA H2AHY| BT A
100,000,000& * 14 100,000 0 100,000




FAM: = A A

B YRBS(LTAMYL)
S HEHHNKNES(UHSol=SLHIESEANGEEEZ) (¢t &
2N -3 - c2(3H) - NEME - HES 0f] AboH J|| & oH Hon=s2t
OLZAlE AAIMA HElAlE B3 AL
100,000,000 * 14] 100,000 0 100,000
OA2LR I AHl S42A
85,000,000& = 14! 85,000 0 85,000
Oa22TH 0ISEHl HESAL
72,000,000& * 14 72,000 0 72,000
OEIZ= sXxeldl(stx=xel, 2= H, KXot
257, 9itg) 40,900,000& * 14l 40,900 0 40,900
O S8E AId2 RA22lb]
38,000,000 * 14 38,000 0 38,000
O£ Xl MelAld sXli2eldl
53,000,000& = 14! 53,000 0 53,000
O=HXl ™MelAld ®HME2Hl (over haul)
180,000,000& * 14] 180,000 0 180,000
OLYAIEZ B3 AH| 30,000,000& = 14! 30,000 0 30,000
602 Ol XI2 41,489,204 43,130,335 AN 1,641,131
01 MXIZ2 41,489,204 43,130,335 N1,641,131
OZdx=&EgII=2 X3
AE 41,489,204,000& * 14 41,489,204 43,130,335 A 1,641,131




